20145 EFEH FEICIIBRRABOLHDOT77—b KiHaR

[Eitxs|  HERF |
(1. 1BYHE - >3/ (RD:%M]

0%

10%

20% 30% 40% 50%

60%

70% 80%

90%

100%

I-1 HEDE, S8

I-2 iR& JND—RA> b
1-3 BROR»™I=
-4 BEDOHE
I-5 235)IRED—E

1-6 BRE

1-7 RE—Roi@Et)=

B5 25 38 w4 BS () 3 5D5 m2 BHRL () 1 BORL (G8) 0 m0 ZELEBL
(I. AVUF1SAICETBEM])
0% 10%  20%  30%  40% 50%  60%  70%  80%  90%  100%
I-2 B4ER - 90.1 l
I-4 fBEDOLAIL 75.7 I

m5 B>5 (&)

m4

B3 (59) 3

SDS m2 B (89)

-1 By (G8)

mo

ZE U

(Il. FEBHDHDHHI]

(ERZHOCZBLEED]

5512

\

&> (8)
o525
o BnRu (58)

o&> (8)
O BhiRuy (88)

(#F LW - EX A DBEE]
1.8 0.7
o&> (s#) o> (89)
=) OB (88)

ORBnn (8)

(BEROBCER]
4.9 0.7

\

OS OA OB ocC gF




